
Algebra 2        Name____________________________ 

Practice Test – Unit 2 
 

For questions 1 – 4, simplify each expression. 
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5. Which of the following expressions is equivalent to 24m   5._________________________  
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6. Let   116  xxf and   .1582  xxxg  
 

a.   xgf          a._________________________ 

 

 

 

 

b.   xgf            b._________________________ 

          

 

 

 

c.   xfg           c._________________________ 
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7. Let   1032  xxxf and   .12  xxg     7._________________________ 

 Find   .xgf  

 

 

 

 

 

 

 

 

 

8. Let     .
5

xg and 15 4
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x
xxf    Find   .xfg    8._________________________ 
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9. Find the inverse of   .3
4

1
 xxg      9._________________________ 

 

 

 

 

 

10. Find the inverse of   .7
3

1 5  xxf      10.________________________ 

 

 

 

 

 

11. Determine whether   2 xxf  and   2 xxg  are inverse functions. 11.__________________ 

 

 a.    xgxf  and  are inverse functions because     0 - xgxf  

 b.    xgxf  and  are inverse functions because    xxgf   

 c.    xgxf  and  are inverse functions because    xxgf   

 d.    xgxf  and  are not inverse functions because    xxgf  equalnot  does  

 

 

 

 

12. Simplify:     216logln10log64log 6
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13. Solve:  
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14. Solve:     10log2log 44  xx     14.________________________ 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

ANSWER KEY 
 

 

 

 

1. 𝑥
19

15 

 

2. 2𝑚4 

 

3. 21𝑛5 
 

4. 81𝑚3 

 

5. A 

 

6. a) 𝑥2 − 2𝑥 + 4  

 

b) −𝑥2 + 14𝑥 − 26 

 

c) 6𝑥3 − 59𝑥2 + 178𝑥 − 165 

 

d. 
6𝑥−11

𝑥2−8𝑥+15
, 𝑥 ≠ 5,3 

 

7. 4𝑥2 − 10𝑥 + 14 
 

8. D 

 

9. 𝑦 = 4𝑥 + 12 

 

10. 𝑦 = √3𝑥 − 21
5

 
 

11. D 

 

12. 6 

 

13. -9 

 

14. -8 and -2 
 


